4-267 59 16 9

1),2)

0.5 0.5

04

|
|
FO=fO L f0 4 £0 410 L) |
|

M)

Yes

28 <12

755-8611 2-16-1

-533-



4-267

10

60

1
No.537/

59 16 9
-4 100
-5
-4
100 \
60 80 S
:._<..- 60
il
8 .
20 140 20 -
—_ /
20+
L]
o= |
0 10 20 30 40 50 60 70 80 90
-5
100 \
80 \
F 60
B
_3 = 40
-]
—_ /
10 100 10 20 .
—_ /
0 T T T T
0 20 40 60 80 100
-6
120
\ - 10
100 f&\i& 2
- 30
N ENEERAR
= 80 \ i 4 40
i 2% 6& / . %é —o— 50
E 60 /\""1 T ‘=<SE~= 60
ﬁ 4014 %}&/ ] - I
= u 80
20 —- 9
100
0
9RO IIIDOIIC 0D
L '5“_" o s U e e B e I
-7

-35 pp.233-244 1996. 2)

No.2 pp.95-100 2000.

-534-



